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Practice Worksheet: Graphing Quadratic Functions in Intercept Form

For #1-6, label the x-intercepts, axis of symmetry, vertex, y-int., and at least one more point on the graph.

1]y =z(x+4)(x—2)

2]y =—3x(x - 8)

3]y=(x+2)(x—2)

x-intercepts: ( ,0) ( ,0) | x-intercepts: ( » 0) ( , 0) | x-intercepts: ( ,0)( ,0)
Axis of Symmetry is x= Axis of Symmetry is x= Axis of Symmetry is x=
Vertex: ( ; ) Vertex: ( , ) Vertex: ( i )
y-intercept: (0, ) y-intercept: (0, ) y-intercept: (0, )
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4]y=-I(x+1)(x-5) 5ly =4(x+2)(x+1) 6]y =—(x—3)(x-3)
x-intercepts: ( 0) ( g) |X-intercepts: ( , 0) ( . 0) | x-intercepts: ( .0) ( ,0)
Axis of Symmetry is x= Axis of Symmetry is x= Axis of Symmetry is x=
Vertex: ( . ) Vertex: (__, ) Vertex: (., )
y-intercept: (0 ) y-intercept: (0, ) y-intercept: (0, )
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Y=aX-p>x-q)

Write the equation of the parabola in intercept form.
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y= 12 1p=2 q=4 x=0 y=-4 |p= a= x= y=
Finda. Y = Q(X-P)(X-9) |Finda Y=Qo-pI(xX- %7 | Finda,
—IR= (4 () Y 22> (4)
—/R = —4A — 4= Ba
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Write the equation. Write the equation. Write the equation.
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Y=3(x+2)(X-3) | Y=—F (x-2) (X4
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p= q= x= y= p= q= x= y= = q= x= y=
Find a. Find a, Finda
Write the equation. Write the equation. Write the equation.

Write the quadratic function in standard form.

13] y=2(x+ 9)(x - 2)

4] y=—(x—-1D(x-1)

15 y=3x+3)(x+1)
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Practice Worksheet: Graphing Quadratic Functions in Intercept Form

For #1-6, label the x-intercepts, axis of symmetry, vertex, y-int., and at least one more point on the graph.

y=sG+4(x-2)

x-intercepts: ( "4 ,0) ( e ,0)

Axis of Symmetry is x=_ |

Vertex: ( *l ’—-Zii

y-intercept: (0, ’4 )
A T

2]y=—-;-x(x—8)

X-intercepts: ( 8 , 0)( O ,0)

Axis of Symmetry is x= 4

Vertex: (A’_, & )

y-intercept: (0, 0 )
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Jy=(x+2)(x—2)

x-intercepts: ( ,('72 ,0)( A , 0)
Axis of Symmetry is x=__ | 2

Vertex: (_O_ i)

y-intercept: (0, _4 )
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4y =-;(+1x-5)
x-intercepts: ( e} ,0) ( 5 ,0)
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Axis of Symmetry is x=

Vertex: ( Z - 6 )
Z
y-intercept: (0, 13 )
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S5ly=4(x+2)(x+1)

x-intercepts: (— &, 0) ( i P 0)

Axis of Symmetry is x= "| S
Vertex: ('E_,_)
y-intercept: (0, L )
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6]y =—(x-=3)(x—-3)

x-intercepts: (2 . 0)(_2 .0)

Axis of Symmetry is x= 3

Vertex: i, Q_)

y-intercept: (0:— )
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g:acx-p)(x—%)

Write the equation of the parabola in intercept form.
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p=Aq=% x=1 y= 12
Finda. ~|3 = Q_CZI-)(_—I)
3= —4a
3=0
Write the equation.

Y= 3(x+2) (X-3)
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Write the equation.

g:-a\cxﬂa)(x“ft)
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p={’5 q=2 x="4 y=‘2_

Finda. —¢=A(I)(-6)
—ad = =L
g-a
Write the equation.

Y= L (x+5)(x-2)
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p=3 q=7 x=| y=-4
Finda. — 4/ = g (~2)(-6)
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Write the equation. . Write the equation. Write the eqé;ion.
Y= BCHIXH3) | y= g x(x45) | Y=-F (XD
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Write the quadratic function in standard form.

13] y=§(x+4)(x—2)
y =50 +2x-8)
Y= Lxyx-Y

14 y=—G-DE-D
Y=l (X=ax+1)

Y- - X tax-|

15] y =30 +3)(x+ 1)

g=3 (X" tx+3)
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